

Ardebojo. Atunpala Victor

Eng 331.

Mathematics Assignment

19/Eng04/077

$$1) y = e^{x^2+x}$$

$$y' \Rightarrow (2x+1) \cdot e^{x^2+x} \Rightarrow (2x+1)e^{x^2+x}$$

$y'' \Rightarrow$ Using product rule

$$\frac{dy'}{dx} \Rightarrow (2x+1) \frac{d(e^{x^2+x})}{dx} + e^{x^2+x} \frac{d(2x+1)}{dx}$$

$$\Rightarrow (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

but $x = e^{x^2+x}$ $y' = (2x+1)e^{x^2+x}$

$$y'' \Rightarrow (2x+1)y' + 2y$$

But differentiating $y'' \Rightarrow y'''$

$$y''' \Rightarrow (2x+1)^3 e^{x^2+x} + (8x+4)e^{x^2+x} + 2(2x+1)e^{x^2+x}$$

$$y''' \Rightarrow (2x+1) \left[(2x+1)^2 e^{x^2+x} + 2e^{x^2+x} \right] + 4(2x+1)e^{x^2+x}$$

but $y'' \Rightarrow (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$y''' \Rightarrow (2x+1)y'' + 4y'$$

likewise $y'' \Rightarrow (2x+1)y' + 2y$.

$$\therefore y^{(n+2)} \Rightarrow (2x+1)y^{(n+1)} + 2(n+1)y^n //$$

$$2) y = x^3 e^{4x}$$

$$\text{let } v = x^3, u = e^{4x}$$

$$v^0 = x^3, v^1 = 3x^2, v^2 = 6x, v^3 = 6$$

$$u^1 = e^{4x}, u^2 = 4e^{4x}, u^3 = 16e^{4x}, u^4 = 64e^{4x}$$

$$y^n = \binom{n}{0} u^n v^0 + \binom{n}{1} u^{n-1} v^1 + \binom{n}{2} u^{n-2} v^2 + \dots + \binom{n}{n} u^n v^n$$

So the last differential of

$$y = v^3, \text{ and } u^n = 4^n e^{4x}$$

$$\therefore y^{(5)}$$

$$\Rightarrow {}^5C_0 4^5 e^{4x} \cdot x^3 + {}^5C_1 4^4 e^{4x} \cdot 3x^2 + {}^5C_2 4^3 e^{4x} \cdot 6x + {}^5C_3 4^2 e^{4x} \cdot 6$$

$$\Rightarrow 1024e^{4x} x^3 + 3840e^{4x} x^2 + 3840e^{4x} x + 960e^{4x}$$

$$4) x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$\Rightarrow x^2 y'' + x y' + y = 0$$

$$w_1 = x^2 y''$$

$$w_1^n \Rightarrow \text{let } v = x^2, u = y''$$

$$v^0 = x^2, v^1 = 2x, v^2 = 2$$

$$u^0 = y'', u^1 = y''', u^2 = y^{(4)} \Rightarrow u^n = y^{(n+2)}$$

$$w_1^n \Rightarrow y^{n+2} x^2 + 2x n y^{n+1} + n(n-1) y^n$$

$$W_2' \Rightarrow v = x \quad u = y'$$

$$v^0 = x, \quad v' = 1$$

$$u = y', \quad u' = y'' \Rightarrow u^n = y^{(n+1)}$$

$$W_2^{(n)} \Rightarrow xy^{n+1} + ny^n$$

$$W_3' \Rightarrow y$$

$$v = 1 \quad u = y$$

$$v^0 = 1 \quad u^{(n)} = y^n$$

$$W_3^{(n)} \Rightarrow y^n$$

$$\Rightarrow W_1^{(n)} + W_2^{(n)} + W_3^{(n)} = 0$$

$$x^2 y^{n+2} + 2xny^{n+1} + n(n-1)y^n + xy^{n+1} + ny^n + y^n$$

$$\Rightarrow x^2 y^{n+2} + \{2xn + x\} y^{n+1} + \{n(n-1) + n + 1\} y^n$$

$$x^2 y^{n+2} + \{2n + 1\} xy^{n+1} + \{n^2 - n + n + 1\} y^n$$

$$x^2 y^{n+2} + \{2n + 1\} xy^{n+1} + \{n^2 + 1\} y^n = 0$$